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1 (ALP) , (Ca) (P) , Ca,P NS s

N N ALP N Ca,P
2ml, ( 1).
ALP .Ca,P . s ALP NS
1 ALP.P Ca (xEs,n=8)
(g/kg qdx 4 W) ALP(w/ L) P( mmol/ L) Ca( mmol/ L)
NS 20 .0ml 185 .40 £28 .14 2.09%0.32 2.10%0.05
20 .0 ml 218 .50 £23 .48 ! 1.88%0.25"2 1.84%0.17"2
3.750 211 .00 £20 .48 3 2.27%0.30"4 2.01 £0.07" 4
1.875 204 .00 57 .50 3 1.89%0.21"3 1.92%0.04"3
3.750 194.40 £19 57" 4 1.93%0.1473 2.12%0.6"°
5.625 189 .20 19 .05 4 2.14%0.2774 2.18+0.4"4
NS ,'P<0.05,"2P<0.01; ,"3P>0.05,"*P<0.01,"°P<0.05
2 ( 3.
(13 *1) C, 128cm 3 (x
, , ts,n=8)
o ,3 Ca P
( 2) . (g/kgqdx4W) [ W(B)/10°2] [ W(B)/10"?%]
2 (xTs, NS 20 .0 ml 21 .68 £1 .02 8.99 £0.35
n=238) 20.0 ml 20.42%£0.86""  8.46%0.33"2
3.750 21.87%0.97"3  9.34£0.73°3
(g/ kg qdx 4 W) ( min) ( %) 1.875 20.91 £0.67°%  8.91.40.79" 4
NS 20 .0 ml 9.42 %1 .40 3.750 20.69*10.20°%  9.04%0.39"3
+ 1
20 il 8.11 —RgK 18 4 5.625 22.85+0.64"°  9.49%0.50" 3
3.750 10 .44 +1 38" 2 29
1.875 g .14k .13%3 0.3 : NS LV VP<0.05,"2P<0.01 ;
* 4 * * *
3.750 9.19 %1 .31 13 3P<0.01,“P>0.05,"5P<0.05
5.620 11 221 2472 38 4
NS 1 P<0.05; ,2P<0.01,"3P
>0.05,"*P<0.05
3 ’ '
,AL,B,C NS
’ ’ , A,B,C
, TYL70P
(C
) 4.
NS )
4 (x*xs,n=8)
(g/em?)
(g/kg qdx 4 W)
A B [¢
NS 20 .0 ml 0.235%0.018 0.217£0.017 0.161 £0.014
20.0ml 0.120 £0.021 ! 0.175%0.005"! 0.092+0.012"!
3.750 0.188 £0.011 "2 0.185%0.019"3 0.158 £0.027" 2
1.875 0.141 £0.029"3 0.169 £0.034" 3 0.13%0.013"2
3.750 0.166 £0.016"* 0.210%0.031 "2 0.101 £0.013"3
5.625 0.184%0.054"2 0.350%0.021 "2 0.103 £0.004"3
NS V' P<o0.01; ,"2P<0.01,"°P>0.05,"*P<0.05. 20ml:NS 0.9% ,

70 mg/ kg
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